

$$\frac{7}{2} - \frac{3}{8} =$$

$$\frac{8}{9} - \frac{3}{8} =$$

$$\frac{4}{3} - \frac{2}{5} =$$

$$\frac{5}{9} - \frac{6}{11} =$$

$$\frac{9}{10} - \frac{5}{11} =$$

$$\frac{5}{4} - \frac{3}{10} =$$

$$\frac{9}{9} - \frac{3}{10} =$$



$$\frac{7}{2} - \frac{3}{8} = \frac{28}{8} - \frac{3}{8} = \frac{25}{8} = 3\frac{1}{8}$$

$$\frac{8}{9} - \frac{3}{8} = \frac{64}{72} - \frac{27}{72} = \frac{37}{72}$$

$$\frac{4}{3} - \frac{2}{5} = \frac{20}{15} - \frac{6}{15} = \frac{14}{15}$$

$$\frac{5}{9} - \frac{6}{11} = \frac{55}{99} - \frac{54}{99} = \frac{1}{99}$$

$$\frac{9}{10} - \frac{5}{11} = \frac{99}{110} - \frac{50}{110} = \frac{49}{110}$$

$$\frac{5}{4} - \frac{3}{10} = \frac{25}{20} - \frac{6}{20} = \frac{19}{20}$$

$$\frac{9}{9} - \frac{3}{10} = \frac{90}{90} - \frac{27}{90} = \frac{63}{90} = \frac{7}{10}$$

